Wle o — Mow

If a ball is thrown into the air with a velocity of 40 ft/s, its height in feet after ¢ seconds is given by y = 40t — 16¢2.

(a) Find the average velocity for the time period beginning with ¢ = 2 and ( QB Yo (3) — b ( 3 f
S\ — o(3s)- . — -
(1) lasting 0.5 seconds: ftls — fg} g,gj AR & (35 4 €Y - Ho(as)-1u [ 25) ( J
(2) lasting 0.1 seconds: ft/s mberzh s - .5
(3) lasting 0.05 seconds: ft/s
(4) lasting 0.01 seconds: ft's [3,8.21]
ind the i i —2 = 41—32(3) = -1
(b) Find the instantaneous velocity when t = 2: - QLf ft/s lg (r}\ ‘-{’ () =
T Q . .
v % -4t — It now, “t “ is the variable, not x
so we’ll take the derivative with

Ao T =R
do v rhve 0( % V(&l: 4D - 32t
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(b) Guess the slope of the tangent line to the curve at P.
(c) Using the slope from part (b), find the equation of the tangent line to the curve at P.
U}

@

®

@

®)

©)

@

@®

® 4

(©




¢ A'H‘f\’\'\l -

Powee  Runle (bR o 2t P
‘% 1) = X,(\{ . e w= 2,3 9,5, ()(—an: X's+3¥ah+3%\’\&+}}
22 Y
(e +h) - CKW‘)LL*L{*U';V kel 4 b
ey = e 2 -
X)) =
% ( WS W |
n—|( NN\ n-3 ny n-3 n-\ n | |
= Y = ¢ e h +(2 L= h9+(’s)w K3+, +{H_l\))}_;\ v b LT | 7 |
h>d ™ | 3 3 (
[ 4 b Y |
_ _ ( S §S N S |
"o Ay kD n-\
- D W nx ]4(7,\3@ V\a*n“‘ h J ( [CHEES 29 < -
h>o W b
A “6 chose 1”
=1 N\ M i = ‘)C/Vh\ (1) nl
- ﬂ/\m S (@Bl’ W 4% - " (\/\5 - l
h>D k V‘! (V\‘i‘A{
(. . Sl = su2
—%(Z) - X



{Z_Q/vvn\qcﬂ.ﬂ/( ‘9% ‘o l\/"‘(ﬁ*"f_ﬁw\’ d2 v, Tn@@(—h-c/)

97

f e §Lovm\o§\ -&\r ’)—H-v_ AQ_\/\\';-'f'\\/‘e WI\_H/‘ Y\Q.ff{ C—* _t* N4
s

)

Y. I8 He N an vy
@ i(—g(x\ -+ %LL\> = _jl;(—guﬂ 4 jL; L?Lx\) plee by fie
(WMLJ -’%\ -+ /_ X

+
J

E+

Y =

LY T = X 4+«

L\

Fllo = ax + zx°

® i(k-igw) = \wiv@)m} <P

3
e+ 4 Pl = 295¢

Flxy = 23-2¢° = L9 5>



Poner  Rule o
V\r\svkﬁ ‘%0“( ony n<

:\13)-\\
4, n=1,<

= \/'a. ) 3/’8\

V\—:TEIQ/
|
] ‘/?\
£ -g(:b\f Ao %/6133 EL
_—
T — |

! - TCX
= Qo T PSR A

o~ e
e o\'@%%k-
- ” /(_)c,) = owes Y
-%(_’x_) = 2 ~% v duse vt O‘WLG




	Untitled
	Untitled
	Untitled
	Untitled
	Untitled

